1. Resuelve la ecuacion:

1. 1-x%4+3x = 3x

5. 4x2-3(x2+1)+2 =0

9. x(2x+2)-2x+1 = 3x°
13. 1-3x = 3x(3%-1)-8x>
17. 3x(x+2)-2x%-6x-4 = 0
21. 3x(x-1)+6x%+3x-16 = 0

. Resuelve la ecuacion:

1. 2(2x2+2x)-x2 = 2x

5. 3(3x-2)-8X = X°-6

9. 3x(x+3)-10x = 4x>
13. 2x2-2(2x2-x)#x = 0
17. 4x-3(x-1)-4x%>-3=0
21. 2x+3 = 3(3x%+1)-8x2

. Resuelve la ecuacion:

1. 3(x-1)+2x2+1 =0

5. 5x+2 = 2x(x+3)—x2

9. 10-5x = 3x2-3(x-3)
13. 2x%x = 2(2x2+3)—7
17. x+1 = 12x2-3(3x%x)
21. 5x%-9x-2 = 3x(2x-2)
25. x(3x-3)-11x? = 3-13x
29. 10-7x? = 8x-2(2x2+3)
33. 9-3x = 14x2-3(2x%+3x)

37. 3x2—2(2x2—3x)—9x+4 =0

. Resuelve la ecuacion:

1. 4x-2(3x+2)+3 = X°

5. 2(x+3)+6X-7 = 16x°

9. x(3x+1)+x2+3x+1 =0
13. 3x2-2x(2x-2) = 6x+1
17. 3x(3x-1)-13x%-x-1= 0
21. 12x2-x(3x+1)+16 =23x

5. Resuelve la ecuacion:

1. 3x2-4x+9 = 2X(x-2)
5. 2X(3x+2)-7x% = 4x+9
9. 2(2x2-3x)+6x-4 = 13x?

6. Resuelve la ecuacion:

10.
14.
18.
22.

. 16x%4+x-2 = x-1

. x%49 = 2x(x+1)-2x

. 4x-9x%-2(2x-3) = 5

. 9x-13%2 = 3x(x+3)-9

. 5x2-9x+1 = 3(2x%-3x)
. 6x-12x% = 2(2x2+3x)-1

. 2x2-5x%+4x = 3x

. 3(x+1)-6x = 4x+3

3x(x+3)-10x = 5x2
10x2-9x = 3x(3x-2)
2(2x2—3x)+7x = 3x?
2(x+2)+11x = 3x(x+3)+4

. 3x2-2(x+1)+7x = 0

. 1-5x = 6x2—2(x2—1)

. 4x+8 = 10X%-X(X+2)

. 9x-8 = 2(2x-3)+2%°

. 2x(3x+3)-10x%-x = 1

. 2x%+10x+3 = 3(3x+2)

. 10x-2 = 3x(2x+1)-3x2

. 2x-3 = 13x%-3x(3x+2)

. 7x2-3(x2-3x)-12x-1= 0

) 3x2—2(3x2—3x)—14x+3 =0

. X(3x+3)-4x2-5x = 1
. 2(3x-1)-x>-14 = 14x
10.
14.
18.
22.

2x(2x-1)-8x2+6x = 1
16x%-15x+3 = 3(3x-2)
2(x2-x)-11x2-22x = 16
-X(2x+2)-Tx2-16 = 22X

i 3(x2—2x)—4x2 = 1-6x
. -3(3x2-x)-7x2 = 3x+9
10.

2(3x2—2x)—7x2+4x—1 =0

11.
15.
19.
23.

. X%+3x-6 = 3x-2

2X(X+2)-X2-4 = 4x
3x%+3x-4 = 3x+2x7
9-2(x2-3x)-2x2 = 6x
9-10x? = 3x(2x-3)+9x
3(3x2-3x)+1 = 10x%-9x

. 2(2x+1)-3x-2 = X2
. 6-x% = 7x-2(3%-3)
11.
15.
19.
23.

5x2-3x(3x-2) = 3x
8x-3(2x+3)+9 = 3x°
3(2x2+2x)—5x2 = 5x
2x(x-1)-x(x-2) = 2x243x

. 2-3X = 4X°-X(x+2)
. 10X2—X(X—1)-8 =7X
11.
15.
19.
23.
27.
31.
35.
39.

5x2-6x-2 = X(3x-3)
x(3x+2)—6x2 = 6x-4
x2-2(2x-2)+6x-7 = 0
3-2x = 3x(3x+3)-5x°
19x-15 = 3(2x-3)+6x°
3(3x2-1)+3x2+17x =-9
3x(2x-3)-18x2-16x = 12
2(x2—x)+7x+4 = 2(x+3)

- XP42x-1 = 2(x2+2x)
. 11x-x? = 3(3x-3)+10
11.
15.
19.
23.

-2x-22 = 3(2X-2)+X?

5x2-2(3x2+2x) =1-2x
10x-16 = 7x2-2(3x2-x)
5x2-3x(2x-3)-5x-4 = 0

. 2x%-3x(2x-3)-9x = 1
; 2x(x+2)+2x2-4x+1 =0
11.

3x(2x—1)+10x2+3x+9 =0

12.
16.
20.
24.

12.
16.
20.
24.

16.
20.
24.
28.
32.
36.
40.

12.
16.
20.
24.

[ax2+c:0]

. Ox?-3+3x+2 = 3x
. 15-4x? = 3(x+2)-3x

4x-2(2x+3)+7 = 9x?
2x-2X(3x+1) = 3x>-4
7%2-3x(2x-1)-3x-9 = 0
9-10x? = 3(2x2-3x)+9x

[ax2+bx=0]

. 9-5x = 3x%-3(x-3)
. 2(3x42)-7X = X°+4

2X(X-1)-3x%+4x = 0
3x(3x+2)-10x? = 5x
2(x+3)+2x2-5x-6 = 0
5x2—2x(3x—2)—7x = X(x-2)

[Dos sol.]

. X(2x+1)+4x+6 = x?
. X(2x-1)-2 = 4x°-6x
12.

3(3x+2)-6x-5 = 4%
2X(x+3)+2 = 3x%+5x
9-3(3x+2) = 6x°-16x
7x-2x2-2(3x-1)+1 = 0
9x2-13x-6 = 2x(3x-3)
4x2—2(3x2+3)+x+12 =0
2(2x2+2x)-2x2-3x-1= 0
2x2—x(3x—3)—7x—2 = X(x+1)

[Sol. doble]

. 8-9x? = 3x-3(3x-3)
. 2(3x-1)+2x+1 = 16x?

2(2x2-x)-2x-4 = 5x2

—2(x2+3x)—2x2 = 6x+9
15%-13x2 = 9-3(3x2-x)
20x-16x2 = 15-2(2x+3)

[Sin sol. ax2+c:0]

. 4x-8x2 = 1-2x(2x-2)

8. 4x2-2(3x+1)+6x+3 =0

12.

4x-17x%-3(x-2) = 7-X(x-1)

[Sin sol.]



1. 4-x? = 4x-3(2x-2)
5. 5x2-5 = 3(2x2-1)+2x

9. 3(3x2+3x)-17x+25 = 8x?

7. Resuelve la ecuacion:

2.
6.
10.

2(3x%-2)-x2 = 8x+13
8x2-1 = 3(3x2+3)+6x
3(3x2+2x)—10x2—12x =13

2 2 2 2
+ - - +
1.2x 3 7x 1=1 2.x 3 16x 11+2:0
2 6 2 30
X2-4x-4  2X%+X _ 5 2x242x+3  X(x-1)
" =x 6. + =2
8 2 6 3
X X(x-2) X341 8x2-6x+1  2X%4X _ o
9. —-——=+—-x=0 10. + =X
3 3 6 24 4
2 2
+ -12x+ + -
13, x2- X(X+2) _ 3x°-12x+1 14. X(2x+3) 3x°-8 —gx -1
18 2 12 2
2 2
17 52- X(x-1) 7x°-6x-4 x 18 X2 X(3x+1) _ 17x°-3x+1
12 9 27
2
+6X+ + - -
21 7X“+6X 2+x(x 2) SP=x 22. 5x4_lx2+2=x(x 1) x
9 6 6 12
. Resuelve la ecuacion:
1. X(19x+3)  x(3x-2) - x o x2. X(11x-21) _ X(X+2)
18 3 20 2
- + +
5. x(13x-5) + X(3x+2) =x? 6. x+2 —gx(x+1)— 3x+x =1
18 9 2 3 3
9 X(x+2)  2x(2x-11) _ N 10. x2- X(2x-1)  X(9x+5) _ 0
9 27 ) 4 16
+ + - -
13. x(41>c<) 7) N x(3‘)1( 1) SP=x 14 x(112x013) N x(); D_ 2ox
+ + - -
17. x(71>; 3) N x(3;< 2) SC=x 18, X2 x(1(;>; 13) _ x(>; 1) x
+ - - -
21. 2x- X(x+16)  3x(x-1) -0 22, xP-x- X(15x-17) _ X(2x-1)
10 18 6
9. Resuelve la ecuacion:
2 2 2
+ + +7X- -
1. Z(X 1)_17x16:X2 5 2x7+7%x-21 X 3:x
5 10 16 4
2x2-1  2x%-x+2 3x%+8x+8 X(x-3)
5, —-——=x-1 6. - =X
3 6 24 4
2 2
+ - - +6X+
9_x 1—6X5+§(x+1):1 10. x(2x3)+x:7x 6x+1
6 12 8 8 16
2
+6X+ + - -
13. 8x 6x7_l:x(2x3) 14. 2x1_x(x2)+ix2:X
16 2 4 2 16
2
17. 2X°-3x+12 N X(x+1) - x 18. X(x+1)  (3x-4)(3%x-2) - x
16 4 3 30
2 2
+ +15x+ -
21, 4 Syan) XX oy pp IXHSXHS X2 oy
10 10 20 4

3. 3(3x+2)-11x-11 = X2 4. X(3x-3)+7x+5 = 2x?
7. 5x2-3x(2x-3)-7X = 2 8. x°-3(2x+2)-2x+23 = 0
11. 6x2-5 = 3x(3x-1)-x(2x+1)  12. 3(2x2-3)-8 = 7x2-2(2x+2)
[ax2+c:0]
2 2 2 2
3.x X 2X 3x8=2 4.3x 2 2x 15—1=O
4 12 10 20
2
7 X(x-1) 4x°-5x-14 -1 8. (2x+1)(x-2) = X(x-1)
6 30 6 2
2 2 2 2
11. 6X +19+3x +2 P2 12, x2- 2X 3=13x 10 “
20 2 4 24
2 2
15. 2x°-2x-1 N X(2x+1) -2 16. - 3x7-4x-16  3x(x-1) —x
10 5 10 5
2 2
+ -6x+ +15x+ -
19. 2 - 2x(x+1) _ 17x°-6x+1 0. 11x*+15%+9  x(x-3) - ox
9 27 30 2
2 2
23 11x“°-10x+9 N X(3x+2) “y2 24, x2 3x°-6x+1 _ X(3x-2) x
30 10 5
[ax2+bx:0]
3 X, X(3x-2) X(x-2) _ 4 X(7x+1) N X(x+3) P =x
5 5 2 12 3
2 2
7 3x“+3 1=y 4AX“-x+5 8. X(11x-4) P = X(x+2)
4 20 12
2 2
- +X- - -
11 X2_x 3 16x x14:1 12, x2- X(2x-3)  x(7x 5):x
10 20 6 ]
2 2
15. x2- X7-2x  16x7-11x % 16, x2- X(2x-1)  x(7x-11) - x
4 20 3 18
- - + +
19, x2- X(x-1) x(17x-20) “x 20. X(15x+17) N X(x+1) = %2
3 27 20 5
2
+2%+ +1)(x- + +
23 7X“+2x+8 N (x+1)(x-1) —2 24 1x2+ X(2x+1)  x(x+1) -2
16 2 9 9 6
[Dos sol.]
2 2 2
3 XT+19x+4  X(x+3) -1 a 7X“+x-13 + X +2 -2
8 2 10 2
2 2
7 %2 X(x-2) x°-x+4 - x 8. 22x°-x+3 N X(x+1) -2
3 6 30 5
2 2
+ + + -20x-
11 X1 Z:X_x(llx 13) 12. X(x+3)  4x 20X3:x
4 16 9 27
2 2 2 2
15. x2- 10x~-4x+21 _X 2 16. 2x2 2x°-1 } 7x+13 _x
18 2 2 10
2 2
-X- - + - -
19. 8x“-x-4 N X(3x-1) = 2y2 0. 4x7+2x-3  3x(x-1) - a3x
12 2 8 2
2 2 2
-X- + - +13x+
23__2x x2_x(2x3)_X:1 24_2x 3_2:_x 13x+2
6 3 4 8



2 2 2 2 2
25 x2 X™-3  (3x-4)(xt1) -2 26. 2x7+1 - o - 3x°-3x+4 27, 9X“+8x+2 N X(2x-3) -2 28 X“-3 N X(x+2) —Ex - P
2 10 4 8 18 6 4 2 8
2 2 2 2
29 X(x-3) 3x7-2x-6 w2=1 30. 15x“+14 N X(3x-2) SP=1 31 3x(x+1) = X2 X“+8x-2 3. 3x(x-1) P =0 6X“+x+8

2 10 18 9 4 12 4 12
3x2-x+8 N X(3x-2)

7x2-13x+3  x(x+1) x o X(3x+2) 7X°+14x-4 _ OX(x+)  2x%47x-3 _

33. x*=1 34. 0 35. 1 36.2x 0
20 4 27 3 2 12 5 10
2 2 2 2
37, 19x7+14x+4  X(3x+2) -1 38 8X“+x+4 N X(3x+2) %=1 39 X(3x+1) s 17x°+2x-3 0. X(x+3) x°-14 —lx—l -0
12 2 10 5 12 24 8 16 16
10. Resuelve la ecuacion: [Sol. doble]
2 2
1. 3x+2 N 3x°-1 - x 5 . 3x-23  x(x+1) -1 3 3x- 2x+9 _ 2X(x+1) 4 X(2x+3) X = 7X°-4
6 4 27 3 6 3 2 8
2
+ - + - + -
5. o IxXCd) X(x2) _, 6. X _X(x2) o 7. Zxxin)- Lo 22 - g, X&) o, X3
16 8 18 2 3 6 6 8 2
2 2
9. 7 X(x+3)  x(x-1) -1 10. x- X(x+3) 24x-11 -1 11, x2- X(2x-1) 6x-1 -0 12, 2x- x7+1  5x%+12 _
8 4 4 3 27 4 8 3 12
2 2 2
+3x+ + + +19x+ - - -X+
13. X“+3X 21+x(x 3):1 14_§+x(x 2)_3)(()(+1):1 15. 4x 19x1+x(x3):X 16. X2_x(x1)_4x Xl:x
30 6 6 3 30 10 2 6
2 2 2 2 2
17. 2X“+2x+1 N X(x+3) - ox 18. X(x+1)  7x7-2x+7 -1 19. 2x7+8x+3 X742 S2=x 20, X(2x-3) 3 7x“+4x-1
6 3 2 16 16 8 6 12
2 2 2 2 2
21 18x“+4x+9 dx = X(X-2) 29 2 X7+2  4x°-8x-11 -x 23 X(x+3) 11x“+4x-6 ix=1 24. -x4]= 3xX(x-1)  7x*+4x-7
8 4 2 10 5 10 8 16
11. Resuelve la ecuacion: [Sin sol. ax2+c:O]
2 2 2 2 2 2 2
- 4x°+9 _ X(X+2) 5 3XH+2 N 3xH+2 S2=1 3 x2 20x°-19 -1 X“+1 a. 2X°+3 2= 8x“+11
24 2 10 5 27 3 3 27
2 2 2
5. 7 X(x-1) ) X(x+1) -1 6. 7X7+8x-16 X(X-2) - x 7 X(2x-1) _17x%-8x-7 -1 8. 2x(x-1) _ 7X7-6x-18 -1
8 4 4 24 3 2 16 9 27
2 2 2 2
9. - X(2x+3) _3x7-9x-2 -3 10 x2- X(2x+1) _ X%-5x-1 -1 11, 17x7+8x+1 X(2x-3) —ox 12 2X7+6x-1 X(Xx-1) 52 = x
2 6 2 10 16 2 12 2
12. Resuelve la ecuacion: [Sin sol.]
2 2 2 2 2 2
1. X1 7x7+6x-2 -1 o 1 X +4x+1 . X“+3 3 X(x+3) x(3x-2) =1 a 3x7+1  10x7-2x-1 -
3 18 12 6 5 10 2 6
2 2 2 2
5. X(2x+1) s 21x“+2 6. 2x7+3  7x7+4x-2 ) 7 1 X(X-2) _ 10x“+7 52 8. X(x+2)  (3x-5)(x+1) -3
12 24 4 12 8 12 5 10
2 2 2
9. X“-TX+2 N X(2x+1) -2 10. 3X°-2X-2 N X(X+2) -2 11. 2x(x+1) 19x7-6x-5 - x 12. X, X(x+1) —i(x2+1) - x
18 2 6 3 3 30 3 3 12
13. Resuelve la ecuacion: [ax2+cz0]
2 2 2
1. x—14+i+x_+1:_x—5 2_x— _x—1+x-x+3:2 3__x_+1_x—2_x+x—3:1 4_x+1+x—2+x+x—3+1:0
3xt6 3 X 3x X-2 X+ x2-4 x-1 x+1 %24 X-2 X+2  x2.4
2 2 2 2
5. x—2_x+x+2_x+1:6 6__l_x_—l_x+x—8:x_+l 7 x+19  1-X-X +x_+1+6=0 8_§_L_X+X‘1O=X_+1
X+2  x?.4 X2 4 x 2% 2X x-3  x2.3x X 2 x+l ox%42x 2
2 2 2
x-1 1 _x18 x7-xtl 10. x+x+4+x_+1+x—12=2 11. 2x-3 +x+1:i_6x—l 12._x_+1_x_+1_x+x+6:l

TOx X 9XH9 xPix 4x%-6x  2x  4x-6 18x-12 3x 3  6x 6x X  6x2-6x 6



13.

17.

21.

14.

1.

13.

17.

21.

15.

13.

17.

21.

25.1

29.

33.

37.

. 1-

2
+ - +XH
13+ x_1= 2-X  X7T+x+9
x-1  x+1  x21
x-1 x*+x+13 , X410 _
X+l 4x2-4 4x+4
6-x  3x%43x-1  x+l _
3x 3x2 X

Resuelve la ecuacion:

X-3  X(x+1) = x+1
—+ +

L -2
X-2  x2.4 x+2

X+1 x2+x-3_ x-1
x+t3  x2.9 X3

X+1

X+1

X2 +x+1 N X-2
x-1

=6
x?%-1

x+x13+x5 x+1
x2-1 X+l x-1

=7

X2+x-4
+
4x2-1

X-2
+
2x+1

X+l
2x-1

1 8x+t17 _

2 8x+8

X-1 8x 11
4x+4 8x-8

Resuelve la ecuacion:

X+5
2X-2

X2+x+3  x+1

x2-4 2
2

X+1

X-2

X+7 x-1 X“+x+8

B e R Ay

x-1  x+1  x2.1

Xx-1 x-9 N X2 +x+1

X 2x-1

2x%-x

9-x x2+x-13
X+2 X2_4

X+1
X-2

1=

1 xP4xtl  4x+9 _ x+l
8x

8 2x?
X2+x+3
9x°-1

2x-3  2x-1

+ +
6X+2 6X-2

4x

X+l x+1
3x+l  3x-1

X2+x+1
9x?-1

=1

15-x x+x25_x+1
Xt2  x%4

X-2

2 X+1

X+3

x+l X
—+
X-3

+X+8
+

x%-9

+1=0

16. Resuelve la ecuacion:

14.

18.

22. —

)}

10.

14.

18.

22. —-

10.

14.

18. —

22.

x-12 _ x+10 X2+x+1
x-1 X X2-x

4 x4 xtl - x2+x-1 -0
3 3x  x 3x2

3 2x-9 x+x13 X+1

2 4X 6 2X -3X X

x1_, xt1 - x2+x-3
x+1 x-1  x2.1

1-x _ x+3 xZ+x+9 5
x+l  x-1 %21

X-1 4-x-x>  x+l

iy +2==2
X-2  x2.4 X+2

o X x2x-15 _ x+1

X-3 X2_9 X+3

3x+2  3x-8 x2x+l
3x+9 3x-9 2.9

2 xtl  X%+x+3 _3x-8
3 3x+l gx2.1 9x-3

X+l X2+x+1 X+l

4x X2 2x

6-x X x24x+1 _
x-1 x+1  x21

3 X3 xd_xi
2 6x2 2X X

X x4 X2
X 5Bx 5 pgx?
3 8x-7 xtl _ 8xt+5
4 8x-8 4x-4 8x+8
x-3 _2-x XPx+l 1

26 13-x  (x+2)(x-1) x+l _
| x-2 x2-2x X
30. 1- x2x+1 _2x-9 _ 2x-7
T %24 2x-4  2x+4
2 2
34, 1_x+x5_x4=x+x+l
2x2 2% x2
2
g, 1 XL X2 o
X 3%+l 3x24x

2-x  X%4x+29 X+1

4x+5 4x 7 x +x+l

15, ——- -— 16.
X+3 x2-9 x-3 8x+4 8x- 4 Ax3-1
2 2
19_4_x+x+1 2x+7 2x-9 20_x+x11+x_+1_2x1 0
x2-4 2x+4 2x-4 x2-1 x-1  x+1
g 12X X190 xPexHl o, 02 xH XPx-7 _3x-4
2x  2x+6  x243x 3 3x-1 o9gx2-1 9x+3
[ax2+bx=0]
3 I-x  xt1  x(x+1) _ 1 4 x1 x2-x+1 ) X+2
T xt2 x-2  x2.4 Txtl %2 x-1
x-2  X24x+3  x-1 X2 x+6 X-7 x-1 _
7. —=- +=—==4 :
x-1  x2.1 x+#l x2-9 x 3 x+3
2 2
11.X+1 5-X  XTHX-5 12_5x X“+x-8 X+l
x-1  x+1 %21 X+2 2.4 X-2
2 2
15.x3+x+x16+x+1=6 16.x+1_1x_24xx=2
X-2  x2.4 @ X2 X-3 xt3  x2.9
19. X+1 1I-x  8x- x2 0. X+1 N X(x+1) :g_ 3x-1
3x-2 3x+2 ox2 _4 3x+2 9gx2-4 3 9x-6
g XL, Xl x24x-15 g X7 _2 2x+1 x24x+1
T 2x-3 2x+3  4x2.9 T 18x-6 3 6x+2  gx2.1
[Dos sol.]
3 x1 1 _x1 x2-x-1 a X+1 oxtl x%+x-3
T x 3 3x 3y T x+2 X-2  x2.4
2 2
7_x9 x+x+2+x+1:2 8 xtl _ . X-5 X%Xx+9
2x X2 X X+2 X-2  x2.4
T G T I N i N
Ax  2X 2 g4x? 6X-2 2X 3x2-x
2 2
15_x4+x+1+x+x13:6 16_x+1_5x_15xx 1
X-2  X+2 x2-4 X-2 X+2  x2.4
2
+ -X- - + + +X+
19.x1_32xx_3x=2 20.6X2 X+15 xx1
x-3  x2-9  Xx+3 x+l  x-1 x2-1
2 2
23_5_x+x+6_xl3:x_+1 24_1_x7_x+x+1 X+9
X2-3X X-3 X 3 3x-3 X2-X 3X
2 2
27_§_x+1_x+x3:2x7 28.X—+1-15X-26XX:6
2 X oxZ4x  Ax+2 x-1  x+1 x2-1
31 2 xtl  x(x+1) _ 3x+l 32 1 x3 x2-x-9 _ X+l
"3 3x-2 gx24 9xt6 "6 6x g@x2ex 6%x-6
g5 L (42D x#l_ x4 oo x#13 xHl _ x2+x-31
2 6x2 3x  6x x-3  x+3 x2-9
39 x+20 X2+x+39 N X-1 _ 2 37 X +x+1 X+4
T ox1 x21  x+l "3 Ox+3  gy2q 3x-1

[Sol. doble]



Xt x-7 _ x*+x+4 X+l Xx-6  XP+x+3 _ 5 X*L 3x4 3x8_, xtl x4 XPx+T
X  x-3 x2_3x X X2  x2ox "ax6 6x  6x9 T X2 x+2 x2_4
g X x2 x2x+l ) 6 L 2x3 xtl _4x17 x-7  x+15 x2x+l 5 g Xt6 xtl_ o X2+x+3
Toxtl ox-1 x24 T2 4x X  4x+8 Tx+l X 24x T x-2 X X2_2%
2 2 2
9. 2-3X _x_+1_ X+1 E 10. 7- X-8 X +X+1 _ X+1 11. X-24 +x_+1+ XE+x+1 _ 12. Xx-10 x+1 _, X +x-14
I9x+3 x 3x+l 3 3x+2  3x2.2x X 3x-2 X 2x2.0x X+2  x-2 x2-4
13. -6- X2 +x+8 2x+9 x_+1 14. 4x-5 N 4x-1  x%+x+l _1 1s. X+1 = X+10 _ X%+x+19 16. X+6 N X+1 _ 1 _ X2+x+9
2%24+9x% T ox42 | 2x 8x-4 8x+4  4x3-1 x-1 X+1 x2-1 3x-6 x-2 3 3x%-6x
2 2 2
+ - +X+ + +X+ - +X+ + + +X+
17.2x1+2x7+x x1:2 18.22X7 xxl 2x-5 19.xl_x x14+x4=§ 20.g_xl X“+X+4 X
2x+4  2x-4 w24 2x+6  x2_9 T 2x-6 X+1 x2-1 4x+4 4 3 6X-3 px2-3x T 2x-1
2 2 2
- +X+ + - +X+ - - + +2X+ + +X+
2:L_xl_x x29+x10:17 22_2_3x7_x x1:3x34 23_6x_x_l_2x 2x1:2 24_192x 2X+5 xxl
x+1 x2-1 x-1 3x  x2.3x 6x-18 2x-2  X-1  ox2.ox 2x+4  2x-4 %24
17. Resuelve la ecuacion: [Sol falsa]
2 2 2 2
1_1_X+X'8_X_+1=X'3 2_2_x—x+2+x_—1:x—6 3_4_x_1:x_+l_x+x+2 4_x+x+1+x— er_:2
21 x-1 x#l x2-1 x+l  x-1 x+l X X24+x x2x X1 X
2 2 2
x3_x+x+4+x_1=4 6.X+7 x_+1 x+x+6:1 7.x+3 xlzg_ X+1 8.6—X5—X+X+2 x_+1
X-1 x2-1 x+1 x+t3 X x24+3x% 3x 2x-1 3 6x-3 X-1 x2-x X
2 2 2 2
- +X+ + -X+ - - + + -X- +X- + -
9_x7+x x4+x1:5 10_2xx6+x1:x7 11_x4 1x_4xx -6 12_2_x x18_x1:x1
x-1 x2-x X x2-4 X+2 Xx-2 X 2¥X  x224x x2-9 x+3  X-3
2 %2 2
13. x+1_1x 10-x-X -5 14_2_ +x36 x+1 x4 15. 132x_1+_x_ 1+x _i 16_1_x+x+1_2x+1:2x5
X+2  X-2 x2-4 x2-9 x-3  x+3 8x-12 2x 2x-3 4 x2-1  2x+2  2Xx-2
2 2
17. i_ X-7 X +X+4 =x_+1 18. 2x-7 N 2x+3 N XX+l _1 19, 2- 2x+3 X +x+1 2x+3 0. X+1 N X-2 3 2x+5
3 3x-3 3x2.3x 3Xx 2x-2  2Xx+2 x2-1 2X- 2 x2-1 2x+2 2x+3 2x-3 4 8x+12
2 2
+ + + + - + + -X- + - +X+
21.6xx10_x4_x_1_0 29 x+x1_(6x)(5x)=4 23.2x+1x_3xx =£ o4 6x1=_6x31_x X+1
x2-1 x+l  x-1 X-3  x+3 x2-9 3x  2x+3 px2+9x 3 6x+18 6x-18 x2.9
18. Resuelve la ecuacion: [Sin sol. ax2+c:O]
2 2 2
1. 2_x -X+1 x4_ X-1 5 X+X+2 x—3+x_+1:2 3. X“+X+4 x—2+x+1:2 4. 7- x—14_x +x+1_x+1
x2-4 X2 X+2 x2-x x-1 X x2-1 x+1l  x-1 X-2  x2.2x X
2 2 2 2
+ +X+ - - -X+ - +X+ - - +X+ +
5.3_x7_x Xl:x—2x 6.xl_x4_x x46=8 7.§_2x1_x x1=x_1 8.2X—X x11_x_1=13
3x+l 3x4x X+2  X-2 x2-4 2 4x-6 2x2.3x X X+1 x2-1 x-1
2
+ + - + + +X+ + +X+ +X+ +
_1x_(2x)(1x)+1x_ 10_4x1 4x3xx1 11_x18 xx19 X-1 -17 12 10-x xx13_x_1§
X+3 X24+2x% X 8x+4  8x-4 4x2-1 X X24+x x+1 AX-4  gx%.4 X1 4
19. Resuelve la ecuacion: [Sin sol.]
1 2. X-2 x24x+1 x-1 5 o X-2 x24x+1 _ x5 3 0. X-2 X24x+3 _x+l a 3x-4 +x_+1 _ o 9xtl
T ox-l 21 x+l T x+3  x2g9 x-3 X2 w210 X T 9x x Ox+27
x+4  XPx+1l  x+l 6x+5 3x+1 3 x+1 14X 14X 24-x-X° X-14 x+46  x2+x+l
5 2-—-—+—=——+ 6. —- — -—=2 8. + + =2
X+2 x2-4 X-2 6X 6x+9 2 4x+6 X  3x-1 x2-1 X 3x+l  3x2+x
XP4xHl | AX-9  Ax+3 _ 3xHd xPexl_3x-13 . x16  x#22 xPxl 4 L, 3 2x-3 2x2x+l | x+l
4x2.1 8xt4 8x-4 3xt9 x2.g9  3x-9 T 3x+3  3x x24x 3 T2 4x gx%+12x X



—Soluciones

1.1. +1 1.2. ii 1.3. +2 1.4. ii 1.5. 41 1.6. £3 1.7. +2 1.8. ig 1.9. +1 1.10. ii 1.11. +2 1.12. ii 1.13. +1 1.14. ii 1.15. ig 1.16. ig
4 3 2 3 3 4 2 3
3 4 1 3 1 -2 -3
1.17. +2 1.18. #1 1.19. iZ 1.20. +3 1.21. ig 1.22. iz 1.23. 41 1.24. += 2.1. -2,0 2.2. 0,; 2.3.0,1 2.4. ?,O 2.5.0,1 2.6. T’O 2.7.-1,0
4

2.8.-1,0 2.9.-1,0 2.10. _—21,0 2.11. 0,% 2.12. 0,2 2.13. 0,% 2.14. 0,3 2.15. 0,% 2.16. 0,1 2.17. 0,% 2.18. -1,0 2.19. -1,0 2.20. O,% 2.21.

0,2 2.22.02 2.23. 3,0 2.24. 20 3.1. 2% 32. 2L 33. 1,2 34.32 35 21 36. 1, = 37. 22 38 L2 30 11 31022
3 2 2 3 3 4 3'3 2 3 3'3
3.11. 22 3.12. 21 3.13. 21 3.14. 12 3.15. 2,2 3.16. 1,2 3.17. -1, & 3.18. = 1 3.19. 3,1 3.20. — 3 3.21. 2,1 3.22. =1 3.23. -3,
2 a 2 2 3 3 a4 3’2 2
Los24. 1,2 325, L3 326. 12 327. 232 32823 329 42 330. L3 33122 33225 333232 334,21 335 22
a4 2 24 3 3’2 3 3 2’2 4’3 2 4’2 4 34
1 1 1 -1 1 1 1 -1 1
3.36. -1,— 3.37.-4,1 3.38.-3,— 3.39. -2, = 3.40. -2,== 4.1.-1 4.2.-1 4.3.-1 4.4. = 45 = 46.-4 4.7.1 48.= 49. = 4.10. = 4.11. -4
2 3 2 2 3 a 4 2 2
-3 1 4 -4 3

4.12. -2 4.13. -1 4.14.% 4.15. -1 4.16. 4.17. _? 4.18. % 4.19. 4 4.20.% 4.21. g 4.22. ? 4.23. 2 4.24. = 5.1. ss.r. 5.2. ssr. 5.3.
4

ss.r. 5.4. ssr. 5.5. ssr. 5.6. ssr. 5.7. ssr. 5.8. ssr. 5.9. ssr. 5.10. ssr. 5.11. ss.r. 5.12. ss.r. 6.1. ss.r. 6.2. ssr. 6.3. ss.r. 6.4. ssur.

6.5. ssr. 6.6. ssr. 6.7. ss.r. 6.8. ss.r. 6.9. ssr. 6.10. ss.r. 6.11. ss.r. 6.12. ss.r. 7.1. ¥2 7.2. ¥2 7.3. ¥4 7.4. i% 7.5. 2 7.6. i% 7.7. t4

7.8. ¥2 7.9. #1 7.10. ii 7.11. iri 7.12. £2 7.13. iri 7.14. ig 7.15. iri 7.16. ii 7.17. £2 7.18. £1 7.19. ii 7.20. ii 7.21. £2 7.22. ii

2 4 3 3 2 3 2 2 3

7.23. % 7.24. #1 8.1.0,3 8.2.0,1 8.3.0,2 8.4.0,1 8.5.0,1 8.6. 0,% 8.7.-1,0 8.8. O,% 8.9. 0,1 8.10. -1,0 8.11. 0,% 8.12. 0,% 8.13. 0,

1 8.14. 0,3 8.15. 0,1 8.16. -1,0 8.17. 0,i 8.18. -—1,0 8.19. -2,0 8.20. 0,1 8.21. 0,i 8.22. O,3 8.23. 0,2 8.24. i 0 9.1. ii 9.2. —3,i

3 4 2 4 3 3 2 3 2

9.3. 1,i 9.4. ﬁ 1 9.5. i 2 9.6. i 2 9.7. —1,i 9.8. _—1 3 9.9. i 1 9.10. i 1 9.11. -4,1 9.12. -1,3 9.13. ﬁi 9.14. g 2 9.15. 1,3 9.16.
3 2 2 3 3 2 4 3 2 4 3

£,4 9.17. ﬁ,i 9.18. -2,4 9.19. i,4 9.20. i,i 9.21. -2,1 9.22. —3,i 9.23. i,i 9.24. i,S 9.25. —l,i 9.26. -2,-1 9.27. —l,E 9.28. -—1,2
3 2 3 2 4 2 2 3 2 3 2 3 2

9.29. _—li 9.30. i 2 9.31. i 2 9.32. i,4 9.33. —4,i 9.34. i 3 9.35. -2,4 9.36. _—1 3 9.37. -4,2 9.38. —2,E 9.39. 1,3 9.40. -1,2 10.1. 1
4 3 3 2 3 2 2 4 4 3

10.2. 2 10.3. 3 10.4. -2 10.5. d 10.6. 2 10.7. -1 10.8. -2 10.9. 2 10.10. d 10.11. 1 10.12. s 10.13. =3 10.14. 1 10.15.1 10.16. -1
3 2 3 3 2 3 2 3 2

10.17.% 10.18. 3 10.19. _71 10.20. -1 10.21.% 10.22. 1 10.23.% 10.24. 3 11.1. ssr. 11.2. ssr. 11.3. ssr. 11.4. ssr. 11.5. ssr. 11.6. ssir.

11.7. ssr. 11.8. ssr. 11.9. ssr. 11.10. ssr. 11.11. ssr. 11.12. ssr. 12.1. ssr. 12.2. ssr. 12.3. ssr. 12.4. ssr. 12.5. ssr. 12.6. ss.r. 12.7.

s.s.r. 12.8. ss.r. 12.9. ssr. 12.10. ssr. 12.11. ss.r. 12.12. ssr. 13.1. t% 13.2. +1 13.3. % 13.4. % 13.5. % 13.6. i% 13.7. i% 13.8. £3
1 1 1 1 4 1 3 1
13.9. iE 13.10. i? 13.11. +1 13.12. ig 13.13. 12 13.14. +3 13.15. i? 13.16. +1 13.17. iz 13.18. +1 13.19. +1 13.20. i? 13.21. iz 13.22.

+4 13.23. i% 13.24. +2 14.1. 0,1 14.2. _?1, 0 14.3. _71,0 14.4. %, 0 14.5. _?1,0 14.6. 0,% 14.7. %, 0 14.8. -1,0 14.9. O,% 14.10. -1,0 14.11.

O,% 14.12. O,% 14.13. %, 0 14.14. -2,0 14.15. _?1, 0 14.16. -1,0 14.17. 0,1 14.18. 0,% 14.19. 0,% 14.20. -3,0 14.21. 0,4 14.22. 0,4 14.23.
-1,0 14.24. 0,1 15.1. i,i 15.2. i, -1 15.3. i, 1 15.4. —1,_—1 15.5. —1,i 15.6. i, 2 15.7.1,4 15.8. i, 1 15.9. _—1, 3 15.10. -3,-1 15.11. —l,i
4 3 3 4 2 2 4 2 2 2
15.12. -1, 1 15.13. -2, 1 15.14. -2, 1 15.15. -1, 1 15.16. i, 1 15.17. i, 1 15.18. i, 1 15.19. -1, 2 15.20. i, 2 15.21. i, = 15.22. _—1, 3
2 4 3 3 2 4 3 2 3 3 3 3 2 4
3 3 -1 -1 -1 1 1 -3 1
15.23. -1,— 15.24. -2,— 15.25. — 4 15.26. — 4 15.27. -1,2 15.28. -4,— 15.29. -3,— 15.30. — 3 15.31. -4,-1 15.32. —, 2 15.33. — 3 15.34.
2 4 2 4 3 2 2 2 4
3 1 1 -3 3 3 3 1
-1,5 15.35. -1,2 15.36. -4,2 15.37. -1,2 15.38. ?, -1 15.39. —, — 15.40. -4,-2 16.1.1 16.2.1 16.3. 2 16.4. -3 16.5. E 16.6. Z 16.7. -4
4 2

16.8.% 16.9. % 16.10.% 16.11. 2 16.12. 4 16.13. ? 16.14. 1 16.15. ? 16.16. % 16.17. 1 16.18. -1 16.19. -3 16.20. -2 16.21.% 16.22.
4

4 16.23.% 16.24. L 17.1.% 17.2. -3 17.3. _3—1 17.4. 2 17.5. % 17.6. ; 17.7. -3 17.8. _3—1 17.9. ; 17.10. -1 l7.ll.% 17.12. 2 17.13. -3

3
-1 -1 3 3 1
17.14. -1 17.15. ? 17.16. ? 17.17. E 17.18. E 17.19. -3 17.20. 2 17.21. E 17.22. -1 17.23. -1 17.24. 1 18.1. ss.r. 18.2. ss.r. 18.3. ssir.

18.4. ss.r. 18.5. ss.r. 18.6. ss.r. 18.7. ss.r. 18.8. ss.r. 18.9. ss.r. 18.10. ssr. 18.11. ss.r. 18.12. ss.r. 19.1. ss.r. 19.2. ss.r. 19.3. ssr. 19.4.
s.s.r. 19.5. ssr. 19.6. ss.r. 19.7. ss.r. 19.8. ss.r. 19.9. ss.r. 19.10. s.s.r. 19.11. ss.r. 19.12. ssir.



